1) y=—7y

x-intercept(s):

Graphing Rational Functions Quiz Review

y-intercept:

VA:

HA:

domain:

range:

End Behavior:

asx — oo, f (x)—:

as x — —oo, f (x) -

3

)

x-intercept(s):

y-intercept:

VA:

HA:

domain:

range:

End Behavior:
asx — oo, f (x) -

asx — —oo, f (x) -




3) y—i
' X+3

x-intercept(s):

y-intercept:

VA:

HA:

domain:

range:

End Behavior:
asx — oo, f (x)—:

as x — —oo, f (X) >
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X—2
x-intercept(s):

4)y

y-intercept:

VA:

HA:

domain:

range:

End Behavior:
asx —> oo, f (x)—:

as X — —oo, f (X) >
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5) y=

x-intercept(s) :

y-intercept:

VA:

HA:

domain:

range:

End Behavior:
asx — oo, f (x)—:

as x — —oo, f (x) -

x? —2x

6) y=—
by x?—2x-3

x-intercept(s):

y-intercept:

VA:

HA:

domain:

range:

End Behavior:
asx —> oo, f (x)—:

as x — —o, f (x) >




